Moto-All.ru

CIIMCOK JOETAJIEU [JI4 "SUMP" TRIUMPH THUNDERBIRD 885

[WWW.OEM.MOTO-ALL.RU/
TEJL: +7 (495) 177-12-75




CITMCOK OETAJIEY [IJ1d "SUMP" TRIUMPH THUNDERBIRD 885

[/WWW.OEM.MOTO-ALL.RU/

TEJL.: +7 (495) 177-12-75

1 T1230117 CpOK IIOCTaBKH 0T 27 gHEU SUMP,3 CYL 1
1 T1230185 Cpoxk noctaBku oT 27 gHER SUMP 3CYL ALUM 1
1 T1230186 Cpok noctaBku oT 27 gHeR SUMP 3CYL 1
2 T1230056 Cpok 1ocTaBku 0T 27 fHeH GASKET,SUMP 3CYL 1
3 3600025-T0301 Cpok 1mocTaBku 0T 27 fHeH O RING 1
4 T1210060 Cpox 1ocTaBku 0T 27 fHeH PRESSURE RELIEF VALVE ASSY 1
5 T3331040 Cpok nocTaBku 0T 27 gHen g?Lf\{/EW’TPT’PAN/ HD MBX1X12 5
6 T1230066 Cpok mmocTaBKu OT 27 mHel OIL PICKUP 1
7 1230060-T0301 Cpoxk noctaBku oT 27 gHER STRAINER RETAINING PLATE 1
8 1230030-T0301 Cpok mocTaBku 0T 27 fHeU DRAIN PLUG M22 1
8 T1211498 Cpok noctaBku oT 27 gHen SUMP BOLT,M14*1.5,SLV 3
9 T3550177 Cpok 1ocTaBku 0T 27 gHeU WASHER, SEALING, M22 1
9 T3551092 Cpok nocTaBku 0T 27 gHel ;gALING WASHERS (PACK OF 3
9 T3551001 Cpok mmocTaBKu OT 27 fHei MULTIPACK, SEALING WASHER 1
9 T3550605 Cpok mmoctaBKu OT 27 mHel WASHER,SEALING, 14.7X21.75X2 3
10 T1230072 Cpok mmocTaBKu OT 27 mHei OIL PRESSURE SWITCH TYPE B 1
10 T1230074 Cpok noctaBku oT 27 gHER OIL PRESS. SWITCH 1
10 1230070-T0301 CpOK IIOCTaBKH 0T 27 gHEU SWITCH, OIL PRESSURE 1
11 T3200190 Cpok noctaBku oT 19 greit Bolt, RHHF, M6 x 25, SLV 15
11 T3331041 Cpok noctaBku oT 19 nHei Screw, Pan/Hd, Tx, M6 x 25, Enc 15
12 3330025-T0301 Cpok 1mocTaBku 0T 27 gHeH SCREW M6 X 40 2
12 T3200104 Cpok nocTaBku 0T 27 gHel BOLT,M6X1.0X40 2
13 1210480-T0301 Cpok 1ocTaBKu 0T 27 fHeR OIL COOLER BYPASS PIPE 1
14 T3450024 CpOK ITOCTaBKHU OT 27 gHEHN SUMP PLUG/WASHER KIT 2
16 3550048-T0301 CpOK ITOCTaBKHU OT 27 gHEHN SEALING WASHER M16 1
17 3450021-T0301 CpOK ITOCTaBKHU OT 27 gHEMN PLUG, M16** 2
17 T3450005 Cpok mmocTaBKu OT 27 fHel PLUG,N.P.S.I. 3/8 DRY SEAL 2
18 T2079314 Cpok mmocTaBku OT 27 mHei HOSE GUIDE 1
19 T3550546 Cpok moctaBKu OT 27 mHel WASHER, M6 1




